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Step 1. Start ST Ay
Step 2. Input numbers, n0,n1,n2,n3, n4 -V'gél’l’":%v'”“- n3, n2, nl, n0jGl 2y
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A

_xfd;(Force)aid I,LﬁJWIJ;I(Mass)%fJJI_y, L/rr)l’”ﬂ)’gi K()-L;eL):gfi(fCZ

Step 1. Start T 1Ak
Step 2. Input numbers, mass, force A ceele ilo(Force)e dal (Mass)ey -2,7ko,
Step 3. Set acceleration to % 1L ForcelMassy Acceleration _3 b
Step 4. Output acceleration Uy A Acceleration _4 s,
Step 5. End i1 54k,
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Step 1. Start

Step 2. Input number, side
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Step 4. Output volume iu:);;lb'/rwj)ﬁfvmume A,
Step 5. End @ ‘5/:&/
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Step 2. Input numbers, base, height Jf/,,bé_oujfBase Height 2/;19/
Step 3. Set area to base X height . L Height x Bases Area _3 b,
Step 4. Output area —u:/;:w/;dfcfm’ea 4k,
Step 5. End 0 54k,
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Step 1. Start T Ay
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-G BFN0 A fLarge 1Sy 3 Ak

-5 1 tLargede 1y = Large fiis n1.1 4 ALy
Step 4. if n1 > large Set large to n1

-y 5P n2tLargese 1y« Large i, s N2/ .54k,
Step 5. if n2 > large Set large to n2

Step 6. Output large LUy A Large 6 £ky
Step 7. End o] _7/,1;1,/

Step 3. Set large to n0
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Step 2. Input numbers, obtained_marks, total_marks ) y
G T (L2 00y B st 3y

obtained_marks AL
Step 3. Set percentage to —————— x 100

total_marks . . P . = .

Step 4. If percentage >80 Set grade to A6 A+ e asl i B0 Ay

Step 1. Start

else 'y 4

if percentage > 70 Set grade to A *U:/J"FAUQJ?%”U’—WL”U?

else Y4

if percentage > 60 Set grade to B —Q/@’faufi—ﬁ%“yéemy’”j

else o

if percentage > 50 Set grade to C 4 CU':?-)?-?-”LJ?‘-WM‘;?

else A u:i

if percentage > 40 Set grade to D -d)}fDuﬂzﬁ%”U"‘mM'}?

else . A u:i

if percentage > 33 Set grade to E -Q/EﬁEutéﬂ?”V"SSJ”U?

else A

Set grade to F. SRS

Step 5. Output grade Ly A4S 5 A,
Step 6. End %16l
ey’ T

Step 1. Start T A ky

- Jéﬁ’i-‘{.d!:‘-.ﬁjb}@br&_ﬂa _2/:"’3?/
Step 2. Input numbers, amount, rate, years
e T (4 x

>y

100)><JL~):Q//‘# 34k,

Step 3. Set plain_interest to (amount x%ﬁf) X years




Step 4. Output plain_interest LV Alep 4,
Step 5. End 1 54k,

LR A T A ESE b ety B
Step 1. Start KT Ak,

Step 2. Input number, celsius -uf/?;;bi.gumnigmﬁt}:cﬂ*c.dm -2/;1?/
S S (P x932 S b -3 Ak
Step 3. Set fahrenheit to celolus® 1+ 32 f .
Step 4. Output fahrenheit S g A 4 ey
Step 5. Input number, fahrenheitauijz;ﬂ"ic—éu’u&ﬁc e A Zone e 5 ey
U AR E i e b-32)X5195 5 _6 s
Step 6. Set celsius to (fahrenheit — 32) X g

Step 7. Output celsius U A Seal -7/’?"/
Step 8. End =01 87k,

(ceta AN N2 By /psaJbunlin2 e n 7 9
Step 1. Start AT Ay
Step 2. Input numbers, n1,n2 -Jgjﬁigf,ufc._bunz, nA 24k,
Step 3. if (n1 < n2){ Jese L e n2 401 i 23 Ak,
Step 4. if(n1 mod 2 equal 0) Output M. f U, 7 A4 n15:03L Fbe 260177} 4 oy
Step 5. Setnltonl+1 LA L5 A,
Step 6. go to Step 3 Lo 3y 64k,
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